T o E

= #\

® W™ IE £ F P
379-1, 379-3, 380-1, 3807, #b 5 /K B&

T #1 F

/

i

-12%)

(FR274E6 5308 527

BRE AR B0 11502 0

BIRE R

A Bl

LEAES

BIBRET 600 (£ vX—hiET)

BkKE

ERREH $300 (IMHAE VU 150)

HEH (AT We150) (1.0%L E)

#KkE (HIVP40)

] @sk88 (¢ 20HIVP)

Sk

RLymsLT ¢25

- —  —  ARERPLR

CRREBATIHYE0NUATOEREEREETS.
CHARBEOREEREMLL —RBREET LT D,
CRKEEKTIMCERNDEEEERT D,
CRUKR—LEAUN— LB EFTS C &,
CERBKEONBIEEINIBULET B,
CRAKHHEEBE 6ol LR T B T &,
CERPKEDO LW Y F20cml LHEBRTBH L.
CRUR—ILER, FLEBUERCARSEERT .

CEEELBLTH., XEEAETS.
CEHNRETEHE. VUT IV RAEREICNEERT 5.
CEHEMOTL—F U OWMFER. 6mA L OEREKFT-20,

CBEKIEOWTEAHALCECTLES S,
CHCELEKEEARRPERB L THRRT 2.
C BB (H300) 12DV TIE, RE 800mmETET B,

(BmLl b o5& RE - T-25, 6mKBOEHE - T-14)

OmA i DER (G T-14EF 5,

CAELETORMSERMBE. 1.0mAEET B,
- BEAORRER (EM27E68308 $27-428) >0 Tl

MAZEFTLGZL,

2

BEHRIYY-+D L=11. 90 FH=10. 20

6. 91

BIATE ZIRGEE
R A A T BERR

HTERARFE L=12. 28m
7" V=$5" 247 77 (500X 500 T-20)

No.1

=K 8.58

JKERE 853 o1
HEKAL 001 Fy-g 40

2

FEHRIVY)-+3) L=14. 55 FH=10. 10

M

377-4

2

FERIvYY)-+Q L=13. 33 FH=10. 00

ER2v9)-+D L=11. 90 FH=9. 90

. 9.22
9.63 —
(7-9.2
8 9.61
i . FH=9. 45~9. 60
z AR
S 380-4 380-5 REHREY
>
T, \
@ \
T .
f_: l 9.28
?E ENREEO
95 L=5. 74 FH=9. 95 95
ol | 7
| |
‘ i i |
HiR199-+E L=18.55 FH=10. 20 A FEHHBEEQ L=14.01 FH=10.10 \ | 6;00
|
| |
. ‘ 4l 407-2 _
| il =
% | -
[ |
381-2 w02 | A I B
381-3 . 380-3 e} z
f ES
9.70 . }m - &
: 3 380-6 g -
10,01 IS 944 n
‘ s 22\ s 5
o 949 g
I o
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ° Iho oG4 T
= IS |FH=9.60 9.20 ©
T I = ] 8
| i IS !
2 g 2 |5 -
265 160F 7 o oE E
X m w I
FH=9 sno] £ - S
' & 9 P
- I b —on
I L PERYO B FERHDO | 05 !
FEEYO | —FRTOEE i —FETOEE | TFH:Q 64 | Ml
—FRTOEE T e __‘_'__‘ P
i | 600
Ll L
2 ;
3 ol
5 _ P
S | B
o | -
el oD =
BHY9Y-pQ L=12. 91m FH=10. 20 | | N
— i
= i ! T
|
fo S S e W Lo L A S N Lo 4071
o o e L EEEER0 LS 08
————————————————————————————————————————— FH=10. 00 8 ; | L=36. 83m i=0. 77% -
! !
! !
i I LE \j L=1 ).
_ ‘ FI# (=125 93m a0
i
201. 38 - 0o
FH=9. 95 S e
g of e
3 s g
FERYO s & e
. 5 ¥
XE®@ £ &
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, E e 5 E g
o 08 o l;:.gogmo 5 171. 95nf &4
\FH=10. 00/ 0 - o
Z \ FH=0.90 / o \_FH=9. 80 / i
{ ® . 5
TS L e £ 0
2 TERND g FERHQ < FERHO 0
3 ] 3 | —FRToEE 2 L —FRTOfE b
L S ]
Efi——— " R .
—————— L 2
v o &
\ 8
‘ 8

F F FF Al
# A H

i
m

] 73

H W
S S
K

b

3
A

B #E
ERr - K&

i
H- ot =
F 3=

+
\|J

VAN
7] VAN
&
L i
=]

R 1/300




